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I. �5D5G5=L M?5<5=F>6 E>45D64=<O,  
?D>65DO5<OE =4 6EFG?<F5?L=>< <E?OF4=<<  

 

$4745? 1. «�5E4=<>4» 

 

- �<=5<4F<>4: 
�5E4=<G5E>>5 46<65=<5 < 57> 6<4O. �F=>E<F5?L=>EFL <5E4=<G5E>>7> 46<-

65=<O. %<EF5<4 >FEG5F4. �4F5D<4?L=4O F>G>4 < 5U D44<GE-65>F>D. %?>65=<5 ?5D5-
<5M5=<=. %>>D>EFL. 'E>>D5=<5. $46=><5D=>5 ?DO<>?<=5==>5 46<65=<5. $46=>GE-
>>D5==>5 ?DO<>?<=5==>5 46<65=<5. %6>5>4=>5 ?445=<5. 'E>>D5=<5 E6>5>4=>7> 
?445=<O. �6<65=<5 F5?4, 5D>L5==>7> ?>4 G7?>< > 7>D<7>=FG. �6<65=<5 ?> >>-
DG6=>EF< E ?>EF>O==>= ?> <>4G?N E>>D>EFLN. '7?>64O < ?<=5==4O E>>D>EFL F>G-
><. &5=FD>EFD5<<F5?L=>5 GE>>D5=<5. 

- �<=4<<>4: 
�4EE4 F5?4, ??>F=>EFL 65M5EF64. �=5DF<4?L=O5 E<EF5<O >FEG5F4. �5D6O= 

74>>= �LNF>=4. �D<=F<? >F=>E<F5?L=>EF< �4?<?5O. %<?4. �D<=F<? EG?5D?>7<F<< 
E<?. �F>D>= 74>>= �LNF>=4. &D5F<= 74>>= �LNF>=4. �4>>= 6E5<<D=>7> FO7>F5=<O. 
%<?4 FO65EF<. �6<65=<5 =555E=OE F5? < <E <E>GEEF65==OE E?GF=<>>6. �5D64O 
>>E<<G5E>4O E>>D>EFL. %<?4 G?DG7>EF<. �4>>= �G>4. %<?4 FD5=<O, >>MDD<F<5=F 
FD5=<O. �46?5=<5. 

- %F4F<>4: 
�><5=F E<?O >F=>E<F5?L=> >E< 6D4M5=<O. 'E?>6<O D46=>65E<O F65D4>7> F5-

?4. �4>>= �4E>4?O. �4>>= �DE<<544. 'E?>6<5 ??464=<O F5?.  
- �4>>=O E>ED4=5=<O 6 <5E4=<>5: 
�<?G?LE <4F5D<4?L=>= F>G><, F5?4, E<EF5<O F5?. �4>>= <7<5=5=<O < E>ED4-

=5=<O <<?G?LE4. $45>F4 E<?O. �>M=>EFL. �<=5F<G5E>4O M=5D7<O. �>F5=F<4?L=4O 
M=5D7<O. �>F5=F<4?L=4O M=5D7<O F5?4 6 >4=>D>4=>< ?>?5 FO65EF<. �>F5=F<4?L=4O 
M=5D7<O G?DG7> 45D>D<<D>64==>7> F5?4. �4>>= <7<5=5=<O < E>ED4=5=<O <5E4=<G5-
E>>= M=5D7<<. 

- �5E4=<G5E><5 >>?554=<O < 6>?=O: 
�4D<>=<G5E><5 >>?554=<O. �<??<FG44, D474, ?5D<>4, G4EF>F4 >>?554=<=. 

�<=4<<G5E>>5 >?<E4=<5, M=5D75F<G5E>>5 >?<E4=<5. �5D<>4 <4?OE E6>5>4=OE >>-
?554=<= <4F5<4F<G5E>>7> <4OF=<>4 < ?DG6<==>7> <4OF=<>4. �O=G645==O5 >>?5-
54=<O. $57>=4=E. $57>=4=E=4O >D<64O. �5E4=<G5E><5 6>?=O. %>>D>EFL D4E?D>EFD4-
=5=<O < 4?<=4 6>?=O. �6G>. %>>D>EFL 76G>4. 

 

$4745? 2. «�>?5>G?OD=4O D<7<>4 < F5D<>4<=4<<>4» 

 

- �>?5>G?OD=4O D<7<>4: 
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�>45?< EFD>5=<O 747>6, 6<4>>EF5= < F65D4OE F5?. &5??>6>5 46<65=<5 4F>-
<>6 < <>?5>G? 65M5EF64. �74<<>45=EF6<5 G4EF<F 65M5EF64. �<DDG7<O. �D>G=>6-
E>>5 46<65=<5. �>45?L <454?L=>7> 7474. %6O7L <564G 446?5=<5< < ED54=5= ><=5-
F<G5E>>= M=5D7<5= ?>EFG?4F5?L=>7> F5??>6>7> 46<65=<O <>?5>G? <454?L=>7> 7474 
(>E=>6=>5 GD46=5=<5 ��&). �5E>?NF=4O F5<?5D4FGD4. %6O7L F5<?5D4FGDO 7474 E> 
ED54=5= ><=5F<G5E>>= M=5D7<5= ?>EFG?4F5?L=>7> F5??>6>7> 46<65=<O 57> G4EF<F. 
�>45?L <454?L=>7> 7474. 'D46=5=<5 �5=45?55643�?4?5=D>=4. �4>>= �4?LF>=4. 
�7>?D>F5EEO: <7>F5D<<G5E><=, <7>E>D=O=, <7>54D=O= ?D>F5EEO. �4EOM5==O5 < 
=5=4EOM5==O5 ?4DO. �?46=>EFL 6>74GE4. �F=>E<F5?L=4O 6?46=>EFL. �7<5=5=<5 
47D574F=OE E>EF>O=<= 65M5EF64: <E?4D5=<5 < >>=45=E4F<O, ><?5=<5 6<4>>EF<, 
??46?5=<5 < >D<EF4??<74F<O. �D5>5D47>64=<5 M=5D7<< 6 D47>6OE ?5D5E>44E. 

- &5D<>4<=4<<>4: 
&5??>6>5 D46=>65E<5. �=GFD5==OO M=5D7<O. &5??>?5D544G4 >4> E?>E>5 <7<5-

=5=<O 6=GFD5==5= M=5D7<< 557 E>65DL5=<O D45>FO. �>=65>F<O, F5??>?D>6>4=>EFL, 
<7?GG5=<5. �>?<G5EF6> F5??>FO. '45?L=4O F5??>5<>>EFL 65M5EF64. '45?L=4O F5?-
?>F4 ?4D>>5D47>64=<O, ??46?5=<O, E7>D4=<O F>??<64. 'D46=5=<5 F5??>6>7> 54?4=-
E4. $45>F4 6 F5D<>4<=4<<>5. �5D6O= 74>>= F5D<>4<=4<<><. �4<454F=O= ?D>F5EE. 
�F>D>= 74>>= F5D<>4<=4<<><. �D<=F<?O 45=EF6<O F5??>6OE <4L<=. ��� F5??>-
6>= <4L<=O. &<>? �4D=>. 

$4745? 3. «-?5>FD>4<=4<<>4» 

 

- -?5>FD<G5E>>5 ?>?5: 
-?5>FD<74F<O F5?. �74<<>45=EF6<5 74DO4>6. �64 6<44 74DO44. �4>>= E>ED4-

=5=<O M?5>FD<G5E>>7> 74DO44. �4>>= �G?>=4. �5=EF6<5 M?5>FD<G5E>>7> ?>?O =4 
M?5>FD<G5E><5 74DO4O. �4?DO65==>EFL M?5>FD<G5E>>7> ?>?O. �D<=F<? EG?5D?>7<-
F<< M?5>FD<G5E><E ?>?5=. �>F5=F<4?L=>EFL M?5>FD>EF4F<G5E>>7> ?>?O. $47=>EFL 
?>F5=F<4?>6 < =4?DO65=<5. �>F5=F<4?L=4O M=5D7<O 74DO44 6 M?5>FD>EF4F<G5E>>< 
?>?5. �>F5=F<4? M?5>FD<G5E>>7> ?>?O. �D>6>4=<>< 6 M?5>FD<G5E>>< ?>?5. �<-
M?5>FD<>< 6 M?5>FD<G5E>>< ?>?5. �<M?5>FD<G5E>4O ?D>=<F45<>EFL 65M5EF64. 
-?5>FD<G5E>4O 5<>>EFL. �>=45=E4F>D. �4D4??5?L=>5 < ?>E?54>64F5?L=>5 E>54<=5-
=<O >>=45=E4F>D>6. -=5D7<O 74DO65==>7> >>=45=E4F>D4. 

- �4>>=O ?>EF>O==>7> F>>4: 

-?5>FD<G5E><= F>>. %<?4 F>>4, =4?DO65=<5, M?5>FD<G5E>>5 E>?D>F<6?5=<5. 
�46<E<<>EFL E>?D>F<6?5=<O >4=>D>4=>7> ?D>6>4=<>4 >F 57> 4?<=O < E5G5=<O. �4-
>>= �<4 4?O GG4EF>4 F5?<. -?5>FD>46<6GM4O E<?4. �EF>G=<>< F>>4. �4>>= �<4 
4?O ?>?=>= M?5>FD<G5E>>= F5?<. �4D4??5?L=>5 < ?>E?54>64F5?L=>5 E>54<=5=<O 
?D>6>4=<>>6. $45>F4 M?5>FD<G5E>>7> F>>4. �4>>= �6>G?O3�5=F4. �>M=>EFL M?5>-
FD<G5E>>7> F>>4. &5??>64O <>M=>EFL, 6O45?O5<4O =4 D57<EF>D5. �>M=>EFL <EF>G-
=<>4 F>>4. �>E<F5?< M?5>FD<G5E>>7> 74DO44 6 D47?<G=OE ED544E. �5E4=<7<O ?D>-
6>4<<>EF<. �>?G?D>6>4=<><. �>?G?D>6>4=<>>6O= 4<>4.  
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- �47=<F=>5 ?>?5:  

�74<<>45=EF6<5 <47=<F>6. �47=<F=>5 ?>?5. �5>F>D <47=<F=>= <=4G>F<<. 
�D<=F<? EG?5D?>7<F<< <47=<F=OE ?>?5=. �<=<< <47=<F=>7> ?>?O. �?OF -DEF544. 
�47=<F=>5 ?>?5 ?D>6>4=<>4 E F>>><. �5=EF6<5 <47=<F=>7> ?>?O =4 ?D>6>4=<> E 
F>>><. %<?4 �<?5D4. %<?4 �>D5=F4.  

- -?5>FD><47=<F=4O <=4G>F<O:  

�47=<F=O= ?>F>>. /6?5=<5 M?5>FD><47=<F=>= <=4G>F<<. �4>>= M?5>FD><47-
=<F=>= <=4G>F<< $4D445O. �D46<?> �5=F4. �=4G>F<6=>EFL. %4<><=4G>F<O. -=5D-
7<O <47=<F=>7> ?>?O >4FGL>< E F>>><. 

- -?5>FD><47=<F=O5 >>?554=<O < 6>?=O: 
�>?554F5?L=O= >>=FGD. %6>5>4=O5 M?5>FD><47=<F=O5 >>?554=<O 6 <454?L-

=>< >>=FGD5. $>D<G?4 &><E>=4. �4>>= E>ED4=5=<O M=5D7<< 6 >>?554F5?L=>< >>=-
FGD5. �O=G645==O5 M?5>FD><47=<F=O5 >>?554=<O. $57>=4=E. �5D5<5==O= F>>. 
�D><76>4EF6>, ?5D544G4 < ?>FD55?5=<5 M?5>FD<G5E>>= M=5D7<<. %6>=EF64 M?5>-
FD><47=<F=OE 6>?=. ,>4?4 M?5>FD><47=<F=OE 6>?=. 

 

$4745? 4. «�?F<>4» 

 

�DO<>?<=5==>5 D4E?D>EFD4=5=<5 E65F4 6 >4=>D>4=>= ED545. �4>>= >FD465-
=<O E65F4. �>EFD>5=<5 <7>5D465=<= 6 ??>E>>< 75D>4?5. �>>474F5?L ?D5?><?5=<O 
E65F4 45E>?NF=O= < >F=>E<F5?L=O=. �4>>= ?D5?><?5=<5 E65F4. �>?=>5 6=GFD5=-
=55 >FD465=<5. %>4 ?GG5= 6 ?D<7<5. �<=74. $>D<G?4 F>=>>= ?<=7O. '65?<G5=<5 
?<=7O. �?F<G5E><5 ?D<5>DO. �?47 >4> >?F<G5E>4O E<EF5<4. �=F5DD5D5=F<O E65F4. 
�>75D5=F=O5 <EF>G=<><. 'E?>6<O <4>E<<G<>6 < <<=<<G<>6 ?D> <=F5DD5D5=F<< 
E65F4. �<DD4>F<O E65F4. �<DD4>F<>==4O D5L5F>4. �<E?5DE<O E65F4. 

 

$4745? 5. «�64=F>64O D<7<>4 < D<7<>4 4F><4» 

 

- �64=F>64O D<7<>4: 
�<?>F574 �?4=>4 > >64=F4E. $>D<G?4 �?4=>4. $>F>=O. -=5D7<O < <<?G?LE 

D>F>=4. $>F>MDD5>F. �?OFO �.�. %F>?5F>64. �4>>=O D>F>MDD5>F4. 'D46=5=<5 
-==LF5==4 4?O D>F>MDD5>F4. �>?=>6O5 E6>=EF64 G4EF<F. �>?=O 45 �D>=?O. �<-
DD4>F<O M?5>FD>=>6 =4 >D<EF4??4E. �46?5=<5 E65F4.  

- $<7<>4 4F><4: 
�G>?>==4O <>45?L O4D4. �4DO4 O4D4. �4EE>6>5 G<E?> O4D4. �7>F>?O. -=5D-

7<O E6O7< =G>?>=>6 6 O4D5. /45D=O5 E<?O. �5D5>F <4EEO O4D4. �64=F>6O5 ?>EFG-
?4FO �>D4. $44<>4>F<6=>EFL. �?LD4-, 55F4- < 74<<4-<7?GG5=<O. �4>>= D44<>4>F<6-
=>7> D4E?444. /45D=O5 D54>F<<. �5?5=<5 < E<=F57 O45D.  

 

II. &D55>64=<O > GD>6=N ?>47>F>6>< ?>EFG?4NM57> 

 

�>EFG?4NM<= 4>?65= 7=4FL/?>=<<4FL: 
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E<OE? D<7<G5E><E ?>=OF<=, 65?<G<=, D<7<G5E><E 74>>=>6, ?D<=F<?>6, ?>-
EFG?4F>6. 

�>EFG?4NM<= 4>?65= G<5FL: 
3 >?<EO64FL < >5NOE=OFL D<7<G5E><5 O6?5=<O < E6>=EF64 F5?, D57G?LF4FO 

M>E?5D<<5=F>6, DG=44<5=F4?L=O5 >?OFO;  
2 ?D<6>4<FL ?D<<5DO ?D4>F<G5E>>7> ?D<<5=5=<O D<7<G5E><E 7=4=<=, 74>>-

=>6 D<7<><;  
2 >?D545?OFL E4D4>F5D D<7<G5E>>7> ?D>F5EE4 ?> 7D4D<>G, F45?<F5, D>D<G?5;  
2 45?4FL 6O6>4O =4 >E=>65 M>E?5D<<5=F4?L=OE 44==OE, <7<5DOFL D<7<G5-

E><5 65?<G<=O, ?D54EF46?OFL D57G?LF4FO <7<5D5=<= E GG5F>< <E ?>7D5L=>EF5=;  
2 ?D<<5=OFL ?>?GG5==O5 7=4=<O 4?O D5L5=<O D<7<G5E><E 7444G. 
 

III. �D<F5D<< >F5=<64=<O D45>F ?>EFG?4NM<E 

 

�EFG?<F5?L=>5 <E?OF4=<5 ?D>E>4<F 6 6<45 F5EF<D>64=<O. $57G?LF4FO >F5-
=<64NFEO ?> 100-54??L=>= L>4?5. 

�464O= 5<?5F E>45D6<F 14 7444=<=. �>?D>EO 45?OFEO ?> >4F57>D<O< E?>6-
=>EF<: 10 6>?D>E>6 >4F57>D<< � (>F5=<64NFEO ?> 5 54??>6 >464O=), 3 6>?D>E4 >4-
F57>D<< � (>F5=<64NFEO ?> 10 54??>6 >464O=) < 1 7444G4 >4F57>D<< % (D4EG5F=4O 
7444G4 3 >F5=<645FEO 6 20 54??>6). %G<<4D=4O >F5=>4 =5 ?D56OL45F 100 54??>6.  

�D>4>?6<F5?L=>EFL 6EFG?<F5?L=>7> <E?OF4=<O 3 60 <<=GF. 
 

IV. �D<<5DO F5EF>6OE 7444=<= 

 

�D<<5DO >D>D<?5=<O 6>?D>E>6 >4F57>D<< «�» 

 

�>?D>EO E 54<=EF65==> 65D=O< 64D<4=F>< >F65F4 

1 �4> 654GF E55O >4=><<5==O5 74DO4O? 

4) ?D<FO7<64NFEO; 

5) >FF4?><64NFEO; 
6) =5 >5=4DG6<64NF 674<<>45=EF6<O; 

7) ?D<FO7<64NFEO < >FF4?><64NFEO >4=>6D5<5==>. 

 

�>?D>EO E =5E>>?L><<< ?D46<?L=O<< >F65F4<< 

2 �?47 D>D<<DG5F =4 E5FG4F>5 <7>5D465=<5 ?D54<5F>6, O6?ONM55EO... 
4) G65?<G5==O<; 

5) G<5=LL5==O<; 
6) ?5D565D=GFO<; 
7) ?DO<O<. 

 

�>?D>EO F<?4 ?D46<?L=4O ?>E?54>64F5?L=>EFL(6>?D>EO =4 E>>F65FEF6<5) 
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3 $4E?D545?<F5 4<4?47>=O >?F<G5E><E 6>?= 6 ?>DO4>5 6>7D4EF4=<O 
4?<=O 6>?=O 

4) <=DD4>D4E=O= [4] 

5) 6<4<<O= [3] 

6) G?LFD4D<>?5F>6O= [2] 

7) D5=F75=>6E><= [1] 

 

�>?D>EO F<?4 ?D>?GM5==>5 E?>6>  
4 � >4=45?4E <7<5DO5FEO __________  E65F4 

4) E<?4; 
5) ?>F>>;  
6) <=4G>F<O;  
7) E>>D>EFL. 

 

�D<<5DO >D>D<?5=<O 6>?D>E>6 >4F57>D<< «�» 

 

�>?D>EO E 54<=EF65==> 65D=O< 64D<4=F>< >F65F4 

5 �5>5E>4<<> <7<5D<FL E<?G F>>4 < =4?DO65=<5 6 F5?<. �4> E?54G5F 
6>?NG<FL 6>?LF<5FD < 4<?5D<5FD?  

4) 4<?5D<5FD < 6>?LF<5FD ?>E?54>64F5?L=>; 
5) 4<?5D<5FD ?>E?54>64F5?L=>, 6>?LF<5FD ?4D4??5?L=>; 
6) 4<?5D<5FD ?4D4??5?L=>, 6>?LF<5FD ?>E?54>64F5?L=>. 
7) 4<?5D<5FD < 6>?LF<5FD ?4D4??5?L=>; 

 

�>?D>EO E =5E>>?L><<< ?D46<?L=O<< >F65F4<< 

6 &5?>, >5?444NM55 ?>?>6<F5?L=O< 74DO4><, ?D<FO7<645F ?57><= L4-
D>>5D47=O= ?D>6>4=<>. �4><< 74DO4>< <>65F >5?444FL ?D>6>4=<>? 

4) ?>?>6<F5?L=O< 

5) >FD<F4F5?L=O< 

6) =G?56O< 

 

�>?D>EO F<?4 ?D46<?L=4O ?>E?54>64F5?L=>EFL(6>?D>EO =4 E>>F65FEF6<5) 
7 'EF4=>6<F5 ?D46<?L=>5 E>>F65FEF6<5 <564G ?D<6545==O<< 74>>=4<< 

< <E <4F5<4F<G5E><<< 6OD465=<O<< 

4) �4>>= �DNEF5D4 1) ö2

0 cosII ý  

5) ?>?=>5 6=GFD5==55 >FD465=<5 2) 2211 sinsin öö nn ý  

6) �4>>= %=5??<GE4 3) 21ntg ýñ  

7) �4>>= �4?NE4 4) 12 /sin nnk ýö  

 

4-3, 5- 4, 6- 2, 7-1. 
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2) I1 = U/R1 = 410/600 = 0,68 �. 
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